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AG-I - Elements of Science
Mathematics useful for
Agriculture (Physics,
Chemistry, Mathematics and
Biology)

1. A magnetized needle of magnetic

moment 4.8x1072JT ! is placed at
30° with the direction of uniform
magnetic field of magnitude

3x1072T. What is the torque acting
on the needle?

A. 32x10%N-m

B. 7.2x10*N-m
C. 3.2N—-m
D

. 1.6x10*N-m

According to Newton’s law of
cooling, the rate of loss of heat is
proportional to-

A. The excess temperature

B. The square of the excess
temperature

C. The cube of the excess
temperature

D. None of the above

AG-I - ¥ & forg swant fomm
TS T dedl (WHiferer, T 9T,
IMGRECEEICRII L))

4.8x1072JT " rerehia AT & T
I 3 ol 3x1072T % T THH
TFTEh & & 30° 1T I TET ST 8 3
R A ATAT S AT T SRTT?

A. 32x10°N-m

B. 7.2x10*N-m

C. 32N-m
D

. 1.6 x10*N-m

T o YA 13| % STTEW, FAT 6
&I ol & ST Bl -

A. 9 IR F
B. didtsh 91 oh
C. AUk Tk

D. 0§ FI5 Tal
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3. If ‘R’ is the radius of the earth and ‘g’ 3. afg R gt i Brsam 8, 3R <’ get

is the acceleration due to gravity on TR 13 cauT 2, dl G2eil ot HTe Eedl
the earth’s surface, the mean density _:ﬁm_ )
of earth is- 3
(G is gravitational constant) (G Teeaeheor feraieh )
A. 4nG A. 47G

3gR 30R
B. 3nR B. 3nR

49G 49G
C. 3g C. 3g

47RG 47RG
D. nRg D. =nRg

12G 12G

4. Electric field and potential inside 4. fordl WiEe AT =Teteh Mt & forg
hollow charged conducting sphere are forera & b1 rarar qur g e sasT
respectively- aﬁ’ N
A. 0,0 A 0.0
B. 0 1 q B. ’
eyt -0, 1 9
ey r

C. 1 q 0 c 1

41 EO r2 ’ . &2, 0

dreyr

D. 1 9 1 ¢ D 1 1
4r e, r2’ Arey 1 ' %, a4
dneyr® dneyr
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5. The magnifying power of a telescope

can be increased by using-

A. objective of large focal length
B. objective of small focal length
C. eye lens of large focal length
D. all of the above

According to Joule’s law if potential
difference across a conductor having a
material of specific resistance p

remains constant, then heat produced
in the conductor is directly
proportional to-

A

o |+~
Sl

C. p
D. p2
A light and a heavy body have equal

momentum. Which one has greater
Kinetic energy?

A. The light body

B. Both have equal kinetic energy
C. The heavy body

D. Data given is incomplete

LaT ol AT I1leh =Rl TG ST Hehell

2-

A. TS B (Hishet) g o ARG 1
TEIHTA T

B. B I (WIhel) gt o SAfIgeeh 1
TEQAT T

C. S hishH (Bihet) gl o TTrehT h1
TEQHT T

D. STk aeft

S o 3w o 1ER, p fafie afota &

fopet =mereh ueTel W us fad favaiae e

STTAT & o, STeteh H 3= ISAT
SR 2l

A

"S-

W

o O
o O o

T Tk S U WK ] T HolT €1 |
3T W fohersht it it 21Tk it

A. Eh! TE] I

B. &I ol TTferst St w8 Bt
C. WRY g =l

D. feam ma SRt S7qut 2
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8. Choose any one of the following four 8.

options which is true regarding the

two statements-

(a) The electromagnetic force
between two protons is greater
than gravitational force
between them.

(b) The nuclear force between two
protons is grater than
electromagnetic force between
them.

Only (a) is correct
Only (b) is correct
Both (a) and (b) are correct

oo Wy

Can’t say

9. The coefficient of thermal 9.

conductivity of a metal depends on-

A. the temperature difference
between the two sides

B. thickness of metal
C. area of the plate
D. none of the above

(a) a1 WIEHI % siT= A STt forgd
T S 39k sTe T ATl
NNCRER K BERIGIR

(b) I IEHT o s T ATt
TR 51T 3k s o a1
T oI & S1fre 2 2

31 T H HR] U o TeTy forshed -

A. FHad (a) TER

B. dd (b) TEI

C. (a) 3T (b) ST TET R

D. %% el &l ST Hehdl

fereft =ITeTeh (4ITq)) =T SHSHT SITetehdT oTieh
fasfr s 2-

A. T U o i T a1 S
B. g sl HIeTE T

C. WIE % &A% W

D. &8 ¥ s Tal
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10. Assertion (A) — Insulators do not 10. e (A) — FaTerh ST HIEAH § 91T I

allow flow of current through ygTied Ta 84 2q 8
themselves. I AT T ~
Reason (R) — They have no free ®)- wé;;r{«rg?ﬁ RALL
charge carriers. few e forspert & & b gfe-
Choose one of the following options- A. T (A) 3R FHRT (R) SHT Tl & 3R
A. Both Assertion (A) and Reason T (R) T (A) i T&T AT
(R) are true and Reason (R) is a FT R
correct explanation of the . o
Assertion (A). B. M (A) 3R (R) T Wl & H
B. Both Assertion (A) and Reason TOT (R) o (A) T Tl et et
(R) are true but Reason (R) is not AT 2
a correct explanation of the .
Assertion (A). C. & (A) & & T F (R) T 2l
C. Assertion (A) is true but Reason D. o (A) 3R (R) THI TTeld 2
(R) is false.

D. Both Assertion (A) and Reason
(R) are false.

11. When we see an object, the image 11. S &9 forell SR i 9@ &, at AT T
formed on the retina is- S ATt gfaferar g 2-
A. virtual N
B. erect
: il
C. real and inverted B -
D. inverted only C. arfaeh 3R 32
D. %ad 3l

SPACE FOR ROUGH WORK / &% &Td & fo1 e
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12.

13.

A parallel plate capacitor with oil
between the plates with dielectric
constant of oil, k = 2 has a capacitance
C. If the oil is removed, then
capacitance of the capacitors
becomes-

~ %
8. C
NG

C. 2C

D. J2¢C

A battery of emf 10V and internal
resistance 3Q) is connected to a

resistor. If the current in the circuit is
0.5A, what is the resistance of the
resistor?

A. 50Q
B. 20Q2
C. 8.5Q
D. 17Q

12.

13.

Teh T Wi Tt fSeeh wiel o 7ed
k = 2 TSI 1 T aa & et
HYTHAT C 81 TfE el & He def 8T fean
ST AT T shi Gt 2ie-

A C/
B. C
2

C. 2C

D. J2C

10V emf 3T 3Q) it Ifalier it Tk
STl e (eet § ST 81 A aieay 7 amr
0.5 A B, T (&Rt o1 giaer e hifsre-
A. 50Q

B. 20Q
C. 85Q
D. 17Q
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14.

15.

Assertion (A) — Empirical formula
mass of ethene [C, H,] is %" of its

molecular mass.

Reason (R) — The empirical formula

represents the simplest whole number

ratio of various atoms present in a

compound.

A. Both Assertion (A) and Reason
(R) are correct and Reason (R) is
correct explanation of Assertion
(A).

B. Both Assertion (A) and Reason
(R) are correct but Reason (R) is
not the correct explanation of
Assertion (A).

C. Assertion (A) is correct but
Reason (R) is wrong.

D. Assertion (A) is wrong but Reason
(R) is correct.

Arrange the following solutions in the
decreasing order of pOH.

(@ 0.01 MHCI

(b) 0.01 M NaOH

(c) 0.01 M CH;COONa

(d) 0.01 M NaCl
A. (b)>(c)>(d)>(a)
B. (a)>(c) >(d) > (b)
C. (b)>(d)>(c)>(a)
D. (a)>(d)>(c) > (b)

14.

15.

MR (A) — 329 [C, H, ] =1

T[T 5 AT I 3TU] 9 T 1 )

HOT (R) — AT &3 Terelt 2ifirer o

JUer SULSAT shT AT hl LA ST

Tef3fa wear 2|

A. SRR (A) 3 HROT (R) EHT &l @
3T HET (R), 3ITHAT (A) FT T
SITEAT T 2l

B. AN (A) 3T RN (R) SHT G
2, T R (R), AR (A) Fi
HE ST 2T LT 2

C. FNTh (A) W&l 8, W] H1 (R)
TeAd 2l

D. HfeRed (A) T &, T HR (R)
a3

frefarfiad faer=t st 37 pOH W &
ed ShH B SITL -
(@ 0.01 M HCI

(b) 0.01 M NaOH
(c) 0.01 M CH,COONa

(d) 0.01 M NacCl

A. (b)>(c)>(d)>(a)
B. (a)>(c)>(d)>(b)
C. (b)>(d)>(c)>(a)
D. (a)>(d)>(c) > (b)
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16. The number of electrons in valence 16. Hifeay, s, IRREW T 9w &

shell of Sodium, Chlorine, Potassium HIST heTeh § SURed Sl ohi ST
and Sulphur are respectively- T &
ALLO A 1,1,7,6
5. 1o L4 B. 7’6’ 1,4
¢ LnLo cl 1,7, 1’6
D. 1,7,6,1 R
D. 1,7,6,1
17. Which is / are correct? 17. & 9 o Te &9
(@) CH;0CH; & C,HZOH are (@) CHOCH, ts C,H;OH
functional isomers. foraTeTes gaTEEa &

() C,HO0C,H; &

b) C,H,OC,H, u
CH, —O—C,H, are (©) =282

CH; — O —C;H, Heamai 2

metamers. .
(c) CH,CH,-CHO & (c) CH;CH,-CHO w
CH;COCH; are position CH3COCH3 Wm%l
isomers. (d) 921310 922 §9 el
(d) But-1 ene and But-2 ene are GHTIS 2
chain isomers. (@) ¥ Q)
. (a) and (c)
. (a) and (b)

. (@), (b) R (c)
. (a), (b) 3T (d)

. (a), (b) and (c)
. (a), (b) and (d)

0O W >

A
B. (a) 3 (b)
C
D

SPACE FOR ROUGH WORK / &% &Td & fo1 e
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18. Which statements are true for Sodium

19.

and Chlorine?

(@) Valency of both Sodium and
Chlorine is one

(b) Both form ionic bond

(c) Both form covalent bond

(d) Sodium form ionic bond only
whereas Chlorine form both
ionic and covalent bond.

A. (a) and (b)

B. (a), (b)and (c)
C. (a), (b) and (d)
D. (b), (c) and (d)

Alkaline hydrolysis of an ester to give
salt of corresponding acid and alcohol
Is called-

A. Hydrolysis

B. Esterification
C. Saponification
D. Hydrogenation

18.

19.

AIfeTq a1 FA0 o Ged § i I hIq

e 89

(a) TSI qAT FAN T TSI
T 2

(b) T A e s B

(c) T TEEAS Y ST &

(d) WfSam et Ao S8 T R
T FARN AT T Hearsi
ST & ST 2l

A. (a) 3 (b)

B. (a), (b) 37 (c)

C. (a), (b) 3 (d)

D. (b), (c) 37 (d)

T o Y ST 3T991e g1 3T o

AT AT Toohlgdd S ohl Tfshar aidl 8-

A. S TEA

B. T&{&m

C. @rereRTor

D. BTSSR
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20. Match the following-

Column — |
+
M CH,CH,OH
_Pd cH,—CH,
—>CH,-CH,
I |
cl I
(IV) 3CH = CH—Cu-Tube
CeHe
Column — I
(a) Hydrogenation
(b) Halogenation
(c) Polymerisation
(d) Hydration
Correct match is-
A. I-d, lI-b, lll-a, IV-c
B. I-a, lI-b, lll-c, IV-d
C. I-a, ll-c, llI-d, IV-C
D. I-d, ll-a, Ill-b, IV-C

20. fefetfioa gaferd shifsTe-

e |
() CH,=CH,+H,0
' CH,CH,OH
() CH,=CH,+H,
_Pd cH,-CH,
(1) CH, =CH, +Cl,
—CH,-CH,
a &
(IV) 3CH=CH—St-Tube
C¢Hq
9 - 11
(a) ETEGISHIEHRIT
(b) RIS
ORERNEY
(d) ®TEgH
A. 1-d, I-b, lll-a, IV-c
B. I-a ll-b, llI-c, IV-d
C. I-a, ll-c, 11I-d, IV-c
D. I-d, 11-a, 111-b, IV-c

SPACE FOR ROUGH WORK / &% &Td & fo1 e
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21.

22.

23.

Which of the following are lyophobic
colloids?

(@ Gold sol

(b) As,S; sol

(c) Starchsol

(d) Fe(OH); sol

A. (b) and (c)

B. (a), (b) and (d)

C. (a), (b) and (c)

D. (b) and (d)

Examples of globular proteins are-
(@) Insulin (b) Keratin
(c) Albumin (d) Myosin

A. (a) and (b)
B. (a) and (c)
C. (b)and (c)
D. (a) and (d)

Which of the following element is not
an essential micronutrients for plant
growth?

A. Zn
B. Cu
C. Ca
D. Mn

21.

22.

23.

T & & 6 O gafatiedt Ficise 82
(a) TS |t

(b) As,S; €

(c) W

(d) Fe(OH), €t

A. (b) 3T (c)

B. (a), (b) 3 (d)

C. (), (b) 3T (c)

D. (b) 3R (d)
TMATRR N & I 2-

(a) FHAH (b) fertfea

(0) T (d) HHEEA
A. (a) 3 (b)

B. (a) 3T (c)

C. (b) 3 (c)

D. (a) 3 (d)

0T 9 & 19 91 < W i gieg o foe
TS GEH TV el 22

Zn

Cu

Ca
Mn

>

O O w
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24. Alkaline
KMnO,

CH,CH,OH— Conc.
H,SO,

Na

a, b and c are respectively-
c—-CH,COOH

B. a-CH,COOH, b—-CH, =CH,,
c-C,H;ONa

C. a-CH,=CH,, b—CH;COOCH,
c-C,H;ONa

D. a-CH;COOH, b-C,H:ONa,

25. Match the following-
Column—A Column-B

(h KCI (@) lonic and
Covalent bond
(1) NaOH (b) Covalent bond
(1 co, (c) Covalent and
Coordinate bond
(IV)NO, (d) lonic bond

A. 1-d, l1-a, I1l-b, IV-Cc
B. I-a, II-b, Ill-c, IV-d
C. l-a, lI-d, lll-c, IV-b
D. I-c, lI-d, Ill-a, IV-b

24,

25.

Alkaline
KMnO,

> a

CH,CH,0H— Conc.
H,SO,

> b

Na

a, b YT ¢ SHAT: B-

A. a-C,H;ONa, b-CH, =CH,,
c—-CH,COCH

B. a-CH;COOH, b-CH, =CH,,
c-C,H;ONa

C. a-CH,=CH,, b—CH;COOH,
c-C,H;ONa

D. a-CH3;COOH, b-C,H;ONa,
c—CH, =CH,

Frfefiad gufad shifsTe-
WY - A Y- B
() KCI (a) A T
L RERIETREL)

(1) NaOH  (b) GEwEISH sier
(1) co, (c) TEEANH e
SUHEHAS SE
(V) NO, (d) T sy
A. I-d, ll-a, I11-b, IV-c
B. I-a, Il-b, IlI-c, IV-d
C. I-a, lI-d, lll-c, IV-b
D. I, Il-d, Ill-a, IV-b

SPACE FOR ROUGH WORK / &% &Td & fo1 e
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26. Assertion (A) — To express

concentration of a solution molality is
preferred over molarity.

Reason (R) — Molality is independent
of temperature whereas molarity
varies with temperature.

A. Both Assertion (A) and Reason
(R) are correct and Reason (R) is
the correct explanation of
Assertion (A).

B. Both Assertion (A) and Reason
(R) are correct but Reason (R) is
not the correct explanation of
Assertion (A).

C. Assertion (A) is correct but
Reason (R) is wrong.

D. Assertion (A) is wrong but Reason
(R) is correct.

27. Find the value of cos 15°.

A B

B.

I
[IEY

‘& Sie o

o
Sl\)

26. AR (A) — foret foreram st wiisar

27.

ERId i & AT ! HieRdT §

grerfirehar &t STt Rl

T (R) — HiedetdT arg 9T fsft 7 st

2, T TR a9 o @ gfEfdd 2t 2

A. 3T (A) 3 HAT (R) ST T ”
3T R (R), 3ATHAT (A) FT T
ST T 2

B. SANYHT (A) 3T HRT (R) SHT G
2, T T (R), AR (A) Fi
HE ST 72T LT 2

C. AN (A) HEY &, T FRT (R)
TeAd 2l

D. HfeRed (A) 7T &, T HRT (R)
A

COoS 15°Wm¢r3n?f?ﬁﬁml

A.ﬁ

B.

IS

O
|
|

O
Kll\)
I
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28. Directions — For the Assertion (A) and

Reason (R) below, choose correct
alternative.

Assertion (A) : Mode is the value of
the observation having maximum
frequency among given observations.
Reason (R) : It can be calculated by
adding all given observations.

A. Both Assertion (A) and Reason
(R) are true and Reason (R) is the
correct explanation of Assertion
(A).

B. Both Assertion (A) and Reason
(R) are true and Reason (R) is
NOT the correct explanation of
Assertion (A).

C. Assertion (A) is true but Reason
(R) is false.

D. Assertion (A) is false but Reason
(R) is true.

28. fder - e feuw 7 her (A) I ST (R)

o for T} forepe o1 == )

F (A) : To 72 veqor o 4 fereRan

AT ATAT H&A0T HT 0 & Sgeieh ol

HTT (R) : 38ehT 0T @t Jeqort o A=

1 AT L TSR ST Tl 2

A. M1 (A) T SROT (R) Gt & e
T (R), he (A) T T =T Bl

B. SIHI %o (A) T HOT (R) €l & qe
HIT (R), U (A) T T2 ATAT Tt
2l

C. %M (A) T&l & T HR (R) Terd

D. % (A) T @ W] N (R) T 8l

SPACE FOR ROUGH WORK / &% &Td & fo1 e
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29. Match the following series with its

correct type and information-
(Column —1)
Series
() 1,6,11,16, ......
(my 24,20,16,12,......
(1 50, 45, 40, 35, ......
(V) 10,14,18,22,......
(Column —11)
Type and Information
(a) Arithmetic Progression with
common difference —4
(b) Arithmetic progression with
common difference 4
(c) Arithmetic progression with
common difference 5
(d)  Arithmetic progression with
common difference -5

I-c, ll-a, 11-d, IV-b
I-a, 1I-b, Il-c, IV-d
I-c, ll-a, 1ll-b, IV-d
I-b, Il-a, I11-d, IV-c

oo Wy

29. frefafad 9 1 g & TR e

ST 3h1 FHTCTA ShIfSTT-
&9 -1)
gl
() 1,6, 11,16, ......
(1) 24,20, 16,12, ......
(1) 50, 45, 40, 35, ......
(IV) 10, 14,18, 22, ......
(&9 —10)

YRR U TR
(a) T I Ueiat —4
(b) HHIG I g 4
(c) FHIGE e el 5
(d) FHIAE I UL —5

A. I-c, ll-a, Ill-d, IV-b
B. I-a, lI-b, Ill-c, IV-d
C. I-c, ll-a, I1l-b, IV-d
D. I-b, ll-a, I11-d, IV-C
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30. Correlate the correct relation. 30. ot Hafer wefuq Hifsre-
Column — | T 1
(1) sin2A (1) sin2A
(1) 4cos®* A—3cosA (1) 4cos A—3cosA
(111) 3sin A—4sin® A (111) 3sinA—4sin3A
(IV) cos® A—sin®A (1V) cos? A—sin® A

Column —1I o
(3) sin3A sk
(b) 2sinAcosA (‘;) 32'”_3AA A
(©) cos3A (b)  2sin Acos
(d) cos2A (8) Cosgﬁ
A. 1-b, l-c, lll-a, IV-d ’(A) | EOTI s v
B. I-b, ll-a, llI-c, IV-d o I'b’“'c’m'a’ IV-d
C. Ib, 11-d, lll-a, IV-c . I'b’“'Z’ “I'C’ |v_
D. I-d, II-b, Ill-a, IV-c BRI, e, I
D. I-d, lI-b, lll-a, IV-c
31. Obtain the value of tan 135° among 31. f=forRaa fasheal & @ tan 1350 &1 AM
the following options- ITH hifSTa-
Al A. 1
8. 1 B. -1
C. 0 C
D. None of these C. 0
D. 94 4 &S T8t
32. If the arithmetic mean of two numbers 32. Ffe 1 AT T GHIGT HIET 10 TAT 37k
is 10 and its geometric mean is 8 then ORI OTST § B a1 37 ST} hl [
find the numbers. fﬁﬁﬂl
A. 4,16 A. 4,16
B. 2.8 B. 2’8
C. 49 c. 4’9
D. 2,18 o
D. 2,18
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33.

34.

35.

36.

Obtain the 12" term of a geometric
series whose 8" term is 192 and
common ratio is 2.

A. 2204
B. 3072
C. 1024
D. None of these

Determine the median of the following
data-
25, 40, 35, 24, 30, 15, 18, 48, 26, 36

A. 26
B. 28
C. 56
D. 30

Find the average of first fifteen natural
numbers.

A. 75
B. 24
C. 16
D. 8

Choose the correct formulas in
logarithms-

() Iog[gj =logx—logy, y=0

(1) log(xy)=logx x logy
(1) log(x") =nlogx

A. Only (1) and (1)

B. Only (I1) and (111)

C. Only (1)

D. Only (1) and (I11)

33.

34.

35.

36.

39 UM 21t 3T 12 9 98 1 hIfSQ
fSreeRT 8 3T 98 192 T |1el 319 2 2

A. 2204
B. 3072
C. 1024

D. 3 & IS el

frefafaa smeret & fore wftmen futfa
it

25, 40, 35, 24, 30, 15, 18, 48, 26, 36
A. 26

28

56

30

o USE Teh{ceh STl o STd I
shifs)

7.5

24

16

8

TETUTSR H E! FA1 ol = hifSTT-

O O w

OO w>

() Iog(gjzlogx—logy,y;to
(1) log(xy)=logx x logy

(1) log(x") =nlogx

A. @aa (1) T (1)

B. @aa (I1) @& (111)

C. @aa (Il)

D. aa (1) @& (11)
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37. If 2x,x+8,3x+1 are in arithmetic

progression then the value of x will
be-

A.
B.
C.
D.

N O 4 W

38. Find the correct value of
1+tan A
1+cot? A
options.
A. cot’A
B. 1

2
C. tan’A
D. 0

among the following

39. Which of the following statement is
true for the body composition of
Cockroach?

A. One pair of testis present in
second segments

B. One pair of ovaries present in
fourth segments

C. Abdomen of Cockroach divided
into 10 segments

D. Abdomen of Cockroach divided
into 7 segments

37.

38.

39.

Ife 2X, X +8,3x +1 Tt I H & al x
T 9T BT

A 3

B. 7
C. 5
D. 2

2
frforfaa fosrcai g @ w Ea)
1+cot® A
TEt g 1 shifsg

A. cot’A
B. 1

2

C. tan’A
D. 0

ik shl ITRIER AT & I H
freferfiad § @ s 91 e g 22

A. gEUES i guo i o A g B
B. =Y We H i i T SISl HISE 8
C. iRl &1 U2 10 Wl # fawifoa @
D. e o1 U< 7 @er & forvrfor @
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40.

41.

42.

Match the following-
Column —1
(a)

Tall and strong plants are

called

(b) Plants which grow with the
help of support

(c) Short and Bushy plants are

(d) Plants with short and soft stem
Column — 11

()  Climbers

(1) Herbs

(1) Trees

(1V) Shrubs

A. a-1V, b-ll, c-I, d-lll

B. a-lll, b-I, c-1V, d-ll

C. a-ll, b-l, c-1V, d-1lI

D. a-lll, b-Il, c-I, d-1V

Which of the following branch of
Botany deals with development of
improved plant varieties?

A. Plant Breeding
Plant Embryology
Plant Biochemistry
Plant Anatomy

O O w

In ------- type, pollination is achieved
within the same flower.

A. Perennial
B. Autogamy
C. Cleistogamy
D. Offset

40.

41.

42.

frreferfiad gafera Hifse-
T -1

EECREEGRIC]

N o1 AU i AT

TR T BT &

Y e ST 9

S T A T ATt W

Y — 11

() ar

() S

(1) g&

(IV) =feat

A. a-1V, b-11, c-1, d-111

B. a-lll, b-l, c-1V, d-1l

C. a-ll, b-I, c-1V, d-1lI

D. a-lll, b1, ¢-1, d-1V

Freafe fogm i fafafga & 9 g
TG 3-1d UTeY forerl & o & geifera
27

A. 91U IS4

B. Wed YT

C. UeY S WA
D. 91eq IRITEhT

STl ST ST SITSRaT ST It § Bt 8

(2)
(b)

(©)
(d)

C. TT-HIT qTrToT (Fefieein)
D
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43. Steps for the production of silk are 43. (¥ IcaTed o =0T A feu e R 3wl

given below in_ ajun_"nbled order. Aok O TRuTEeg i)
:;;rsggget.hem in their proper (a) TSN T TR AT T T R
(a) Eggs are warmed to a suitable oAralt 3FeT & foepet @E'
temperature for the larvae to (b) HTaT ek Hie T 37
hatch from eggs. (c) et 1w ¥ i ufert 5wy
(b) Female silk moth lay eggs. fraet

(c) Larvae are kept in clean trays , . .
along with leaves. (d) il = @HT &g w1 T

(d) Caterpillars stop eating and aﬁafrﬁnfwa?rsyam Eacll

start spinning cocoons. HEl I FHT-
Select the correct answer-
o A @)>(©)>(d)> (b)

A. (@) >(c)>(d) > (b) B. (b)>(a)>(c) > (d)
B. (b)>(a)>(c)>(d) d(mﬂmﬂmﬂd

C. (b)>(d)>(a)>(c)
D. (c)> (a)> (b) > (d) D. (¢)>(a)> (b) > (d)

44. Which of the following structures are 44, e g T o SR YEH o fow

used by plants to exchange gases? feforiad o 9 fore Gx=mT 1 SU=T fomam
A. Root SICIE
B. Stomata A. €
C. Bark :
B.
D. Stem
C. 31
D. @1
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45. Identify the host plants of lac insect, in

46.

the list given below.

(@) Kusum (Schleichera Oleosa)
(b) Babul (Acacia arabica)

(c) Groundnut (Arachis hypogaea)
(d) Palas (Butea monosperma)
Select the correct answer from the
following options-

A. (a) and (b) only

B. (a) and (c) only

C. (a), (b) and (c) only

D. (a), (b) and (d) only

Assertion (A) : Hydra is green in
colour.

Reason (R) : Green colour is due to
the presence of chlorophyll in their
body wall.

A. Both Assertion (A) and Reason
(R) are true and Reason (R) is the
correct explanation of Assertion
(A).

B. Both Assertion (A) and Reason
(R) are true and Reason (R) is Not
the correct explanation of
Assertion (A).

C. Assertion (A) is true but Reason
(R) is false.

D. Assertion (A) is false but Reason
(R) is true.

45.

46.

T Fhie o arveh ae, fferfad e i
gft & & vgmnfi-

(a) $YH (Schleichera Oleosa)
(b) eIt (Acacia arabica)

(c) WA (Arachis hypogaea)
(d) YT (Butea monosperma)
Frefefiae & w 3o gfe-

A. Fad (a) 3 (b)

B. had (a) 3T (c)

C. &ad (a), (b) 3 (c)

D. ad (), (b) 3R (d)

AR (A) : BTSST T U7 & BT 2

R (R) : B 4T 3o IR T (et

I H FARITSheT o SRIL0T 2IdT 2l

A. AN (A) 3T FHRT (R) THT T
2 3T HHT (R), AR (A) T Tt
ST 2

B. AN (A) 3T HNT (R) SHT I
2 3T FHRT (R), 31fheT (A) il T
ST el B

C. R (A) TET 8 AR SR (R)
T 2

D. 3fehed (A) Tel T&f ® A shror
(R) @& 2|
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47.

48.

-------- is the name of symbiotic lives
inside the intestine of termites.

A. Cellulose
B. Fungus
C. Ants

D. Protozoa

Consider the following statements
about beehives.

(a) Honey bees live in beehives,
every beehive has one queen
bee that lays eggs.

There are only few male bees
in the hive which have special
roles as workers.

Most of the male bees in the
hive are worker which make
hive and also look after the
baby bees.

The worker bees fly around
litchi flower in search of
nectar for honey.

The correct statements are-

A. (a) and (c)
B. (a) and (d)
C. (a) and (b)
D. (c)and (d)

(b)

(©)

(d)

47.

48.

ek Sl AT H IR ST Tl Hesiiat

D. TSI

emeRdt o Bl o o H A fa e
gfear-

(a) WemloREt SO § Wl B, WA
T T TeRelt el © S 370 It
H

B § % R e oft g & S
B o ToTT Afiren & 9 # iy
F1 L 2

T | JTfRreRiRr AT AfRe Bt &
ST o s B o S S st
T qTe T 1 HLd 2l

o1foreh werelt TeE o foag T it
@ISt o oI ATl o Bl 1 Teht
I 2

ST O T e R-

A. (a) 3 (c)
B. (a) 3 (d)
C. (a) 3 (b)
D. (c) 3 (d)

(b)

(c)

(d)
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50.

. The ------ forces, selective uptake of

minerals in the root.
A. Pericycle

B. Epidermis

C. Endodermis
D. Root Cap

Which of the following is not a correct
floral character of the members of the
family Solanaceae?

A. Flower : Zygomorphic

B. Calyx : Valvate aestivation
C. Stamens : Epipetalous

D. Fruit: Berry or Capsule

49.

50.

SISt Sfeuit oh = ST 2] -
galTel T 2l

A. ShETsiRa

B. uusfi|

C. werstHy

D. Sfeamdt

frefaRaa o & o a1 Stfireteror St
et oh IS 3T &0 T 82

A. W:Wﬂﬂﬁﬁ

B. STRIGTYS : hITeasi qeqeaetfar=md
C. WW

D. % : s (W) AT HYE
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51.

52.

AG-I1 - Crop Production
and Horticulture

Which soil structure is more porous
than others?

A. Spherical
B. Blocky
C. Prismatic
D. Platy

Direction : For the Assertion (A) and
Reason (R) below, choose the correct
alternatives.

Assertion (A) : The surface soil air of
forest soil has 0.80% CO, .

Reason (R) : Higher rates of plant
growth and microbial activities in the
forest soil.

A. Both Assertion (A) and Reason
(R) are true and Reason (R) is the
correct explanation of Assertion
(A).

B. Both Assertion (A) and Reason
(R) are true but Reason (R) is
NOT the correct explanation of
Assertion (A).

C. Assertion (A) is true but Reason
(R) is false.

D. Assertion (A) is false but Reason
(R) is true.

51.

52.

AG-II - HE IeqTe U
I A

I €T el ol EtemT 311 ol gt §
TRy T 27

A. TIATHR

B. scifeh aret

C. Tt

D. it

fcer : i few Tw e (A) 3R (R)

o foTg Bt fereped TH-

HYT (A) : StTer shi firgh ot Tt fagh

TATH 0.80% CO, =

ST (R) : SiTed <t firgh & oteri <hi gfeq

HIT gawsie et st 3= &

A. AT (A) T FHRT (R) ST TF ©
S HRIT (R), FUT (A) FT Tl
TOETRT B

B. F¥T (A) TR HN (R) THI AT &
AT T (R), T (A) T H_T
TqeRTor T R

C. HU (A) G & Alohd 0T (R) TeAd
2

D. &9 (A) 3T 8 Tifehd HROT (R) T
2l
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53. Match the following- 53. ﬁt"ﬁf@ﬁﬂai%'“ hifsTe-

Liming Material AT garet
() Calcium carbonate (1) oz HEte
(I1) Basicslag N
(111) Dolomite (D)
(V) Burnt lime QINISISILIES
Calcium Carbonate Equivalent (IV) STl g3 <1
gg; 86 H{TRIH IS GHIT
109 >
) 179 (2) 86
(d) 100 (b) 109
Select correct answer from the options (c) 179
given below. (d) 100
A. I-b,11-d, Ill-a, IV-c frer few e forsredt & & Tt ST =)
B. "d'”'z’”"g’ V- A. 1-b, 11-d, 111-a, IV-C
C. ";’”'b'”" 1V-2 B. I-d, Il-a, I11-b, IV-c
D. 1-d, 1I-b, lll-a, 1V-c C. I-c, Il-b, 1ll-d, IV-a
D. I-d, ll-b, Ill-a, IV-c
54. Who is the Chief Executive of the 54. W Y ATHYT TRYE % T&T FRIFR
Indian Council of Agricultural FIT 22
Research? .
A. The Prime Minister A .
B. The Union Minister for B. HRF
Agriculture C. "<y
C. The Director — General D. g@qwﬁﬂ

D. The Chief Justice
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93. Particle density of a soil is also known

56.

S7.

as-
() Density of solid particles
(I1) Mean particle density
(1) Bulk density

(IV) True density

A. (1) and (1)
B. (I) and (111)
C. (), (1) and (1)
D. (I), (1) and (1V)

The diameter of clay particles in soil
have -------- millimeter.

A >20

B. 20-0.2
C. 0.2-0.02
D. <0.002

Which forces are responsible for soil
consistency?

(I) Cohesion  (I1) Adhesion
Select the correct answer from the
following options-

A. ()

B. (I

C. (I)and (1)

D. None of the above

55.

56.

57.

firgt 3 s Bfear ot off SRt ST 2-
(I) 39 T o Tcd

(I) T 0T Tl

(1) A e

(1V) arfereh Secd

A. ()3 (1)
B. (1) 3 (1)
C. (1), (1) s (1)
D. (I), (1) 3T (1V)

22

() 9SS (II) STESH
Frferfiad forped! o & @8l I TH-
A. ()

B. (II)

C. ()3 (1)

D. ST d & IS el
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58.

59.

60.

The percent of acidic soils in
Chhattisgarh out of it’s total
geographical area ranges from-

A. 40-50
B. 55-60
C. 75-80
D. 85-90

Arrange the stages of soil erosion by
water in increasing order as given
below-

() Gully erosion

(1) Rill erosion

(1) Splash erosion

(IV) Sheet erosion

A. (D= 1IV)= 1) =)
B. (IV)— (1) —(I)—(II)
C. ()= (IV) (1) —(I)
D. (N> —=11)—=(1V)

Arrange the effectiveness of given
amendments for sodic soil reclamation
in decreasing order if same quantities
are applied.

() Gypsum

(1) lron sulphate

(1)  Pyrite

(1V)  Sulphur

A. (1IN > (1) > (1V) > ()
B. (I)>{V)>(1)>(1)
C. (D>UD > >(1v)
D. (IV)> () > (1) > (1)

58.

59.

BTG H et HHTIfereh &t | | 7wt
fergt s srfererer 2-

A. 40-50

B. 55-60

C. 75-80

D. 85-90

ST I HaT TILEH o RO I 1 QU
STTHR Gt 360 H aeerd whi-

()  STSTAHT TULET

(I1) et 3T

(1) 3= I

(IV) 9 TIEH

A. (D=>IV)= ) —(1)

B. (IV)=>(I)—()—(1)

C. (IIH=>IV)=>UH—()
DAY EYUDEYOY)

. e T T A & S 2 ar e g

PR A R LN EETE AR BICIS ]
o1 T12d 5hH | SFeTedd i

OEREEL

(1) AT e

(IIT) TsAIEe

(IV) Tieren

A (1D > 11D > (V) > (1)

B. (11D > (1V) > (1) > (1)

C. (D>@D> 1>V

D. (IV) > (1) > (1) > (1)
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61.

62.

63.

64.

The agricultural equipment used to
break clods during land preparation

A. Mould board plough
B. Disc Harrow

C. Rotavator

D. Blade harrow

In Maize crop, which stages are very
sensitive for water logging?

A. Knee stage
Seedling stage
Silking stage
Tasselling stage

o O w

Khaira disease of rice is caused due
to-

Fe, deficiency
Mn, deficiency
S, deficiency
Zn, deficiency

oo Wy

Horizontal flow of water in channel is
called as-

A. Infiltration
Percolation
Seepage

B.
C.
D. Suction

61.

62.

63.

1fey oY IR o SR Sl R e o T
SYFRT foRAT ST STt Y ST -

A. Hice dIE &

B. GAeR W

C. Te[PX

D. s

ek oh! O H i HY STt St s1a
o forr arfar dagmefier gt 82

A. T2 T FTEE

B. die 3tadr

C. fufcah staee

D. 2afedT staeem

T T G T Tohe el ST SRt o ShIOT
T 82

A. Fe, &l st

B. Mn, 3hl st

C. S, It

D. Zn, hl sHt

. I § ST T &S I8 FHaeATar 82

A. FTheeEd
B. TR
C. #usr
D. gFed
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65.

66.

67.

68.

Among the following, which crop is a
green manure crop?

A.
B.
C.
D.

Paddy
Arhar
Chickpea
Sunhemp

Mimicry weed in wheat crop is-

A.

B
C.
D

Phalaris minor

. Chenopodium album

Chenopodium murale

. Striga

Most important critical stage for
irrigation in wheat-

A

B.
C.
D.

CRI stage

Booting stage
Jointing stage
Milking stage

For which crop, pudding is done by
ploughing the land filled with water?

A

B.
C.
D.

Jowar
Soybean
Paddy
Wheat

65.

66.

67.

68.

$TH ¥ o €t & W1g il wEd 87
A. 94
B. 3T
C. =1

D. &%

g 31 et | THfsh! Teaqa -
A. B ArER

B. TSI UeeH

C. =AMITSad gt

D. &I

i e 35 ford wrerd et T

JTIEAT B-

A. T IR, TS, 3raer

B. THIT 3TawRT

C. U9 T g I Y rae
D. 3T H 34 WL i ST

forg T B AT & TR g g M Ea |

Wfr o [T o Tefoi it St 82
A. SaR

B. dMEH

C. um

D. 1§
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69.

70.

71.

72.

The seed which is known as mother
seed-

A. Nucleus Seed
B. Breeder Seed
C. Foundation Seed
D. Certified Seed

Purple colour appears in maize leaf is
caused due to-

A. Ca, deficiency
B. N, deficiency
C. P, deficiency
D. K, deficiency

Consumptive use of water for a crop
represents-

A. Evaporation needs of the cropped
area

B. Transpiration needs of the crop

C. Evapotranspiration needs of the
cropped area plus the minor
quantity required for the metabolic
activity of the plant

D. Evaporation needs of the crop only
In micro-irrigation system, where the
water can be applied frequently in the

form of continuous drops through
emitters?

A. above the surface
B. below the surface
C. Both (A) and (B)
D. None of the above

69.

70.

71.

72.

i sfiSt H1q sfs HEeTar 22

A. JfereE st

B. sitetsis

C. BIRUSE sl

D. yHIfUra st

Teeh Shl Tt § ST 4T Tohe e ShT SR
o ST BT 82

A. Ca, bl sHt

B. N, 3Rl skl

C. P, =l

D. K, @t &t

fopelt seret o fore T 1 SUsiTTeHeh
SR ST 2-

A. AT & s ST IR SATITIhaTd
B. WU T ATSIIcHS HTaITHATE

C. HUd I & Y Irfierur-3casiq shi
SATITIHATY I 9T T JuTorrt
fciferfer sk foTg sATervsh ATt @

D. Hdd HHA shl ATHRUT ST
g& fee=s st §, 9T i Sesien &
AL § THTIA S{a1 o &9 & hel-shel STl
ST kel 27

A. TAE Y FIW

B. Tdg &

C. (A) TS (B) aHt

D. 3k d ¥ 1S g
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73. The purpose of irrigation is to supply

water ------- to the crops to fulfil its
water requirement.

A.

B.
C.
D.

Naturally
Artificially

Both (A) and (B)
None of the above

74. In surveying, the instrument Dumpy
level is used for-

A

B
C.
D

Finding point to point distance

. Finding the traverse area

Finding the elevation difference

. Finding the perimeter of area

75. Which irrigation method sprays the
water resembling rainfall over the
crop?

A.
B.
C.
D.

Furrow irrigation
Sprinkler

Lift irrigation
Drip irrigation

76. How much is the Cultural Command
Area (CCA) under a major irrigation
project?

A
B.
C.
D.

< 500 hectares

500 — 1000 hectares
1000 — 10,000 hectares
> 10,000 hectares

73.

74.

75.

76.

f=ITE o1 SevT wEe! 3T a ot

A. Tl &9 H

B. FEMETH

C. @Ml (A) T (B)

D. SR W & IS Tl

TAT0T §, SFHY AT SUSRIUT ShT ST fohaT
ST & forem-

A. Toig @ foig =1 gt 1 <61 STT ok

B. A & el ST Heh

C. SrelTS o e F1f feham ST

D. &% T TRETT T 53T ST
i dt fe=s fafer woer o awt & oo
qrt 1 fesgenTer st 22

A. et fiems

B. fisher

C. fowe fo=m

D. fgu =g

Foreft s =TS fisT & St fohaar
Wt A FATE & (HEH) gar 8?

A. <500 THRIT

B. 500 — 1000 BFT

C. 1000 — 10,000 BFIT

D. > 10,000 TR
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77.

78.

79.

The ratio of the quantity of water
stored in the root zone of the crops to
the quantity of water delivered to the
field is known as-

A. Water application efficiency
B. Water use efficiency

C. Water conveyance efficiency
D. None of the above

Considering equal time duration,
arrange the following irrigation
methods in order to provide irrigation
water in large quantities to the crops.
(@) Drip irrigation

(b) Flood irrigation

(c) Furrow irrigation

(d) Sprinkler system

A. (a) > (b) > (c) > (d)

B. (a)>(d)>(c) > (b)

C. (b)>(c)>(d)>(a)

D. (d)>(b)>(a) > (c)

The duty of irrigation water for a
given crop is maximum-

A. On the field

B. At the head of the main canal
C. At the head of the water course
D. None of the above

77.

78.

79.

BT o T & § Hfed Tt <l AT 3R
W H ATk &9 ¥ TEaTT 1T I 67
HTAT 3 3TTATA hl el STl 8-

A. ST STIIENT S&FAT

B. STcT U g

C. ST Hag S&fdm

D. SR W & IS Tl

U GHATIY 1 €T H T 5T HEc i
fersh O A TS ST Suetst R &
o0 o fereferfiaa =g fafert o
raferd |

(31 feu fo=e

C©REIAEE

(@) et e

@) TR yomeft

A 3> @)> @) > (@)

B. (3)>(3)>®)> ()

C. (&>®@)>(@)>(3)

D. &) >(®)>(3)>(®)

feret et o forg &S Tt ot gt
SIDET NS

A. TdH

B. H&d Tels W

C. Sommt o R w

D. STt & & 1S Tl
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80. Which is/are instruments are used in
chain surveying?
A. Chains
B. Pegs

C. Ranging rods

D. All of above

81. Vegetable which is not blanched
before drying-

A. Cauliflower
B. Spinach
C. Onion
D. Tomato

82. The most ancient type of garden is-
A. Kitchen garden
B. Market garden
C. Vegetable garden
D. Floating garden

83. Important ingredient/s for jelly
making is/are-

A. Pectin
B. Acid
C. Sugar
D. All of these

81.

82.

83.

. S GITUT § ShI-h & IYHIUT hT ST

fopa STraT 22
A. o

B. g

C. R ied
D. 3urh auft

IE Hosl! Fordl g™ | Tae seliteiT Tl i

STTeft-

A. Fert
B. dleih
C. @~
D. X

ST T Y g T farfer 2-
A. R mER

B. mifehe T

C. afsreas e

D. FAf&Tmed

Sieft s o6 foTe el |t &-
A. ufoea

B. T

C. 3l
D. 3wk gt
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84.

85.

86.

Which of the following method is
suitable for combining the desirable
characters of two plants together in a
single plant?

A. Cutting
B. Layering
C. Grafting
D. All of these

Recommended spacing for Pusa
Nanha variety of papaya is -------

A. 2x2m
B. 2.25x2.25m
C. 1x1Im

D. 1.25x1.25m

Match the following-

Column — | Column —1I
(a) Seed () Grapes
(b) Hardwood cutting (1I) Banana
(c) Sword suckers (111) Mango
(d) Veneer grafting  (1V) Papaya

A. a-ll, b-11l, c-1, d-1V

B. a-lll, b-11, c-1V, d-I
C. a-l, b-lll, c-ll, d-1V
D. a-1V, b-1, c-Il, d-11l

84.

85.

86.

freferfaa o @ e fafer < et &
i1 TJUTT <kt Ueh &1 I WeIford st
o foTq 3w &2

A. T

B. wfar

C. T

D. 3wk auft

oeffet T T T foRe o forg avr & e
shi gl Fehert et &2

A. 2x2 "X

B. 2.25x2.25 "X

C. 1x1Hiet

D. 1.25x1.25 #iX

i - 11
(a) S () R

(1) kel
(III) A
(IV) gdIar

A. a-ll, b-1ll, c-I, d-IV

B. a-lll, b-I1, c-1V, d-1

C. a-l, b-lll, c-11, d-1V

D. a-1V, b-1, c-11, d-11l
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87.

88.

89.

90.

Wind breaks are planted in orchards
towards-

A. South — West
B. North — West
C. South — East

D. North — South

Red color of tomato is due to-
A. Lycopene

B. Betalains

C. Anthocyanins

D. Beta-carotene

Quickest method of lawn planting is-
A. Seed

B. Dibbling

C. Turfing

D. None of the above

Match the following-
Column — I Column — I
(a) Charbagh (I) English Garden

(b) Wells (1) Persian Garden

(c) Baradari (Ill)Japanese Garden
(d) Lawn (IV)Mughal Garden
A. a-ll, b-1, c-1V, d-lll

B. a-lll, b-1V, c-I, d-lI

C. a-ll, b-lll, c-1V, d-I

D. a-lll, b-1, c-1V, d-ll

87.

88.

89.

90.

Y ST Uty sften 4 foRd fewm |
ST ST B2

A. 3o —aism

B. W - ufyw

C. afeqor—vd

D. 3T - gfeqor

ZHTEX ohT ITeT T Toh&eh ShI0T BT 27

A. ATEHRAE
B. sl
C. uaHEET
D. sffer— A
SiveraT & &t o <t farfer 2-
A. &fiw
B. fefsaim
C. i
D. 3 A S oft 7
et — | ShictH — 11
(a) =S () sheerme
(b) AT (1) IET MET
OELS (111) ST TTTE
(d) BTt (IV) 7T e
A. a-ll, b-l, c-1V, d-111
B. a-lll, b-1V, c-I, d-1l
C. a-ll, b-1l1, c-1V, d-I
D. a-lll, b-l, c-1V, d-1l
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91. A device to provide the power of 91. we UET ITHIUT ST 37 AN 2l it T

purchase of capital goods even for AT @i Y sife Yo ar & R
those who do not possess capital is- quﬁqﬁ%
A. Credit A
B. Capital o
C. Finance B. it
D. Income c. fo=
D. ¥
92. The term which has the same meaning 92. 3 y1eg forent o1 mTforen it feierl =
as owner’s equity is- guH 8-
A. Net worth A ﬁaan@
B. Net farm income
B. IR HY A
C. Total asset value o
D. Total liabilities C. et Hefer e
D. %l aariet
93. Which of the following supervise the 93. faAfafiad o & s foha o Tt T
end use of credit at the farmer’s level? ife g Y R et 22
A. PACS A g
B. NABARD
1)
C. RRB B
D. LAMPS C. 3R I .
D. oF g
94. Summary of farm business 94. Y EET T T I HET ST 2-
transactions is Zalled- A E RS
A. Farm recor
B. %M @rar
B. Farm account
C. Farm accountancy C. P cErsE
D. Cash book D. Uske ot
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95.

96.

97.

98.

Which of the following is not the
objective of farm record?

A. To control farm business

B. To guide future decision

C. Provide data for farm planning
D.

To know financial position of the
firm

What is the major source of lending to
farmers in rural areas?

A. RRB
B. FSS (Farmer Service Society)
C. PACS

D. Private Money Lenders

Which of the following falls under
financial farm record?

A. Farm inventory

B. Machinery use record
C. Stationery register
D. Auction register

Assets are-
A. Always equal to liabilities

B. What the business owes to
creditors

C. Items that have value
D. The same as owner’s equity

95.

96.

97.

98.

frfafiaa o @ = o1 % i &1 3w
T 22

A. FHY T il Rl e

B. wfars o futer st Amiesta

C. N IISHT o o3l STeT I AT
D. w4 ot facfter Reafa sam

TTHTOT &A1 H TR o ST 6T THE &id
T2

A, HR AT S,

B. SRR Ay demt

C. U

D. fsft wgepn

e & @ = o ot ol fh e &
Il AT 82

A. Y qUER

B. AT SwImT fante

C. T e

D. e et

A. THIM ETRET o SR

B. SIGE™ hl QIFER U SIhTT

ey
C. Ja& S qea g

D. HTfcAeh o f8eR] & SRR
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99.

100.

In crop loan scheme, loan is advanced
by taking -------- as a security.

A. Land
Machinery
Buildings
Enterprise

o O w

The cooperatives for tribes are called
as-

TRIBAL
LAMPS
SAVITHA
ITDA

O w>

99.

100.

HE T ASHT H, FTET o6 T H —-mommv
REZERCEIES IR

A. SHH
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101.

102.

AG-I11 - Elements of Animal
Husbandry and Poultry
farming

Black colour body and Short tightly
curved horn is characteristically
present in-

(a) Tarai Buffalo

(b) Bhadawari Buffalo

(c) Murrah Buffalo

(d) Nagpuri Buffalo

A. (a) only
B. (b) only
C. (c)only
D. (d)only

Assertion (A) : To avoid milk fever in
high producing cow.

Reason (R) : Best not to draw all the
milk from udder for a day or two after
calving.

A. Assertion (A) is true but Reason
(R) is false.

B. Assertion (A) is false but Reason
(R) is true.

C. Both Assertion (A) and Reason
(R) are true and Reason (R) is
correct explanation of Assertion
(A).

D. Both Assertion (A) and Reason
(R) are true but Reason (R) is not
the correct explanation of
Assertion (A).

101.

102.

AG-III - U3TITAT TS Sherehe UTer
o el

T[T ok TET Torer TorIs &9 & 9T STTar

27

(a) S A"

(b) W 9

(c) Tdw

(d) mTgd e

A. T (a)

B. @ (b)

C. 5™ (c)

D. T (d)

U (A) : FAfreh g8 qarTedt Tl A firesh

S Y o &

IO (R) : o ¥ G g4 1 A o6 Teh AT

ar fe ek &t feprern =nfay

A. FI (A) TR €, T R (R) 7T 2

B. % (A) Teld &, 3T HRT (R) Hell 2

C. I YT (A) 3T HRT (R) T & qem
FIT (R) ST I (A) el T AT
EARIER]

D. I %M (A) 3T FRT (R) T & 0
FIT (R) SRT A (A) el F&T AT
Tt T e 2
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103. Sequence of teeth in lower jaw of
cattle from centre to side is-

A.
B.
C.
D.

104. Milk production in India in year 2022-

Molar, Premolar, Canine, Incisor
Incisor, Canine, Molar, Premolar
Canine, Incisor, Premolar, Molar
Incisor, Canine, Premolar, Molar

23 is-

A.
B.
C.
D.

222.07 million tonnes
230.58 million tonnes
209.96 million tonnes
198.44 million tonnes

105. Assertion (A) : Dehorning is dairy
managemental practice.
Reason (R) : Helps in proper care and
make handling easy.

A

Both Assertion (A) and Reason
(R) are true but Reason (R) is not
the correct explanation of
Assertion (A).

Both Assertion (A) and Reason
(R) are true and Reason (R) is the
correct explanation of Assertion
(A).

Assertion (A) is true but Reason
(R) is false.

Assertion (A) is false but Reason
(R) is true.

104.

105.

103. g % fieret STere # g2 @ for i il T

gidl o1 5hH &-

A. 31§, ITUSTE, hid ad, Fdih
B. %=, shidl 4d, 13, U
D. %, il 4d, UG, TS

¥ 2022-23 H WA H 1 I &-

A. 222,07 Hfeaa e

230.58 fafcrem =7

C. 209.96 fafcrm =1

D. 198.44 faf <o

O (A) : | T sHEAT U] SsTeH 2l Teh
farfer 21

HIOT (R) : ©iTT TR o & uggedi sht
TG 375 Aok § 3T I H1e] ol
HEIAT &I 2l

A. ST (A) I HRT (R) T&T & a2
T (R) ST Y (A) T el TReAT
EHEIRI R

B. &I s (A) 30 HRT (R) G & qer
FIT (R) SRT I (A) el F&T AT
TS B

C. & (A) H& 2, T T (R) T 2l

D. ¥ (A) T 8, T FRT (R) Tl 2

w
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106.

107.

108.

Match the goat breed with their place

of origin-
Origin Place Goat Breed
(a) Uttar Pradesh (1) Alpine
(b) Kashmir (1) Gaddi
(c) Himanchal (1) Pashmina
Pradesh
(d) France (IV) Jamunapari
A. a-lll, b-1V, c-11, d-I

B. a-1V, b-1ll, c-1l, d-I
C. a-ll, b-1, c-ll, d-1V
D. a-l, b-1l, c-1l, d-1V

What is the minimum percentage of
protein that should be fed to the goats?

A. 4 percent
B. 6 percent
C. 10 percent
D. 3 percent

In 1965, for development of animal
husbandry and dairy science, Indian
Government has established-

A. Indian Council of Agriculture
Research

B. National Dairy Development
Board

National Dairy Corporation

O

D. Operation Flood — |

106.

107.

108.

SR 2T ST T 3o 7o T / Ieet

T (Origin) o forem-
et T SR T T/
(a) ST () T
(b) H¥HT () e
(c) R yeer  (111) e
(d) wig (IV) ST

A. a-lll, b-1V, c-11, d-1

B. a-1V, b-lll, c-11, d-1

C. a-ll, b-I, c-lI, d-1IV

D. a-l, b-Il, c-11I, d-1V

SHIAT T —AAH Tohd T T
e =i

A. 49faea

B. 6 M=

C. 10 wfaera

D. 3 wfiera

1965 H, H TR A T S g7

forsT o ferenr 2 for®t ETa sht TmoaT
12

A. WA Y SFEY gitwg
B. WA o foepmd o
C. Udea frm

D. SATEH %TE - |
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109. Black quarter is caused by- 109. Gt S Tt Forerdl BT 2
A. Pasteurella multocida A, U qedifaeT
B. Clostridium chauvoei B ﬁ@%ﬂﬁ@ﬁﬂﬁt
C. Pox virus C
D. Bacillus anthracis '
D. sfoe™ wenfae
110. Milk Producing Cow have- 110. gy & aredt M 3 -
A. Large Bar-rel, Capacious Uqlder A. 12, IIeh SHaT aTaT 37T 3
3/nedinProm|nent Tortuous Milk é@?ﬁﬁwﬁg’ﬂﬁmﬁﬁﬁ%l
B. Large Barrel, Capacious Udder B. WW’:}"P’H} &‘man.waq'q:raﬁt
and Thin Milk Vein weedt gre IR gieft
C. Small Barrel, Small Udder & C. DTN, DI T 3 I 7t 8
Prominent Tortuous Milk Vein vy R Bre ) D
D. Small Barrel, Small Udder, Small °
gy I 2t &)
111. Match Disease & Causes- 111. g7 37T HIT ol feT-
Disease Causes T FTOT
(a) Anthrax () Viral q._aw _%
(b) Foot & Mouth (Il) Protozoal @) . M 3
(c) Piroplasmosis  (I11) Bacteria (b) TR IETHT (1) ST
A. a1, b-111, c-1l (o) frremsmfem (111 Sframy
B. a-ll, b-111, c-I A. a-l, b-11, c-ll
C. a-lll, b-1, c-lI B. a-ll, b-1ll, c-I
D. a-lll, b-11, c-I C. a-lll, b-l, c-ll
D. a-lll, b-11, c-I
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112. Breeding of unrelated animal is- 112. Srosiferg 72 o U1t o i IS 2-
A. Close Breeding A G99 ISHT
. Line Breeding

B B. 3TdiE¥l UGS
C. Outbreeding
D

. Inbreeding © .
D. 3Ad:.IsHA
113. Dewlap is present in- 113. TTeteRteTet 7T HTeR fohaH 2T 82
(@) Sahiwal Cattle (a) GTRIET T
o ilersy C{itlgﬁffalo (b) ST
@ Surt Buttalo (© T i
A. (a) and (d) only (@) g
B. (a), (b) and (c) A. (a) 3 (d) wr
C. (a) and (b) only B. (a), (b) 3 (c)
D. (a), (b) and (d) C. (a) i (b) 7

D. (a), (b) 3T (d)
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114. Assertion (A) : Vitamin A and D
supplementation is required in
ruminant.

Reason (R) : As Vitamin A and D are
not formed during digestion.

A. Assertion (A) is true but Reason

B.

C.

(R) is false.

Assertion (A) is false but Reason
(R) is true.

Both Assertion (A) and Reason
(R) are true and Reason (R) is the
correct explanation of Assertion
(A).

Both Assertion (A) and Reason
(R) are true but Reason (R) is not

the correct explanation of
Assertion (A).

115. The dry matter allowance for cattle
and buffaloes should be divided as-

A. 2/3 as roughages and 1/3 as

B.

C.

concentrate

2/3 as concentrate and 1/3 as
roughages
1/2 as concentrate and 1/2 as
roughages

80 percent roughages and 20
percent concentrate

114. %o (A) : ST AT URISAT Rl et
farerfima A 37t D it e strawaeRan
EEGIR

W1 (R) : Tt A 3R D uremfsrn &
SR &l ST 2|

115.

A
B.
C.

F (A) T €, T FT (R) 7T 2
o (A) T €, T8 HNT (R) T 2
FUT (A) T H (R) THT T R 3T
T (R) ST HY (A) i T&l
ST Sl TS R

F (A) 3 HRT (R) ST T 8 T
T (R) ST Y (A) ol T
ST T 6T TR 2

URSAT ST [ FaTe 3 HATTAHAT o
EERIGE N CRICIRC I Fey,

o o w >

2/3 W |IET =R 3 1/3 9T ST
2/3 AT SHET 3T 1/3 WAT /ST A/
1/2 AT SET 3 1/2 90T T =T

80 Tfcr=Ted AT =T 3T 20 T
qHT
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116.

117.

118.

Maximum number of cows, an adult
bull should be allowed to mate in a
week?

A. 2-3 Cows
B. 4-7 Cows
C. 8-12 Cows
D. 13-16 Cows

Haemorrhagic Septicaemia occurs in -

(a) Acute form
(b) Per acute form
(c) Chronic form

A. Only (a)
B. (a), (b) and (c)
C. Only (b)
D. Only (c)

Proper sequence of artificial
insemination is-

(a) Selection of bull

(b) Storage & transport of Semen
(c) Semen collection & examination
(d) Semen dilution

A. (b)>(c)>(d)>(a)
B. (d)>(c)>(b)>(a)
C. (©)>(d)>(a)>(b)
D. (a)>(c)>(d)>(b)

116.

117.

118.

Teh JI%F Gie ¥ Uk Hu1E H 31ferehan

foRaT TITT T SITeRfcreh &9 & J Tt Rt

=fEw?

A. 2-3TF

W

4-7 T
C. 8127

D. 13-16 T

TTTEITE T ST ST 3T <A FhfSTU-
(a) T IR

OEEIGHERELS

o o
(c) T=LRTITh kL

A. " (a)
(), (b) 3 (c)
C. 4l (b)

w

D. " (¢)

SHT3 T BT SR () -
OEIEEIERE

(b) & weeror o uftEe
(c) dTe wreor ud uiteror
(d) =Rl g

A. (b)>(c)>(d)>(a)
B. (d)>(c)>(b)>(a)
C. (c)>(d)>(a)>(b)
D. (a)>(c)>(d) > (b)
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119.

120.

121.

Symptom of Sick Animal-
A. Active with wet muzzle
B. Dull with dry muzzle
C. Dull and wet muzzle

D. Active and dry muzzle

Match score points of bull or sire for
judging of bull by score card method-

Attribute Score Point
(a) General appearance (I) 5
(b) Hind quarters (1) 25
(c) Action potential (1) 15
A. a-lll, b-1, c-ll
B. a-1l, b-lll, c-I
C. a-ll, b-1, c-1I
D. a-lll, b-Il, c-1

Milch Cattle breed in India is-
(a) Hariyana

(b) Sahiwal

(c) Sindhi

(d) Tharparkar

A. (a) only

B. (a) & (d) only
C. (b) & (d) only
D. (b) & (c) only

119.

120.

121.

ST STaR 3 e 3

A. wfora ST g

B. 4 SN q@n 4o

C. sk I Tfar oo

D. @fsra 371 g goF

TS o TAEI0T HIT ITHieh sh HATS T TUTieh

ot ferfer g a i v foret ol
SEikl o

(a) TEEEAAT (D) s
(b) TEaTYgs I 25
(c) Toram ermam 1) 15
A. a-lll, b-l, c-II

B. a-Il, b-ll, c-I

C. a-ll, b-1, c-1l

D. a-lll, b1, c-I

A. |7 (a)

B. (a) 3R (d) ur
C. (b) 3™ (d) o=
D. (b) 3 (c) 7
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122.

123.

124.

Natural, best and scientific method of
milking is-

A. Stripping

B. Machine milking
C. Full hand

D. Knuckling

Arrange the organ of female
reproductive system inside to outside-
(a) Fallopian tube

(b) Ovaries

(c) Uterus & Cervix

(d) WVagina & Vulva

A. (b)>(a)>(c) > (d)

B. (a) > (b)>(c) > (d)

C. (d)>(c)>(b) > (a)

D. (b) >(c) > (a) > (d)
Acrtificial Insemination in cow is
performed at-

A. Proestrous

B. Mid estrous
C. Diestrous
D. Luteal

122.

123.

124.

e et 1 T, @i S AT
fafera-

A. et fafy

B. #sfi fafer

C. ol g&d farfer

D. 3TaT eIt

TTET S 3T 7 ST & SITeL ol 36 2-
ORRLNPEIRED

(b) SAUEEE

(c) TS 3T e

(d) N S

A. (b)>(a)>(c) > (d)

B. (a)>(b) >(c) > (d)

C. (d)>(c)>(b)>(a)

D. (b)>(c)>(a) > (d)

T & | T O T HE ae -
A. TigEzH

B. fies®d (Mid heat)

C. S5

D. e
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125. Active means of production in dairy 125. gre T 1 Wik | 2-
farmlng IS- (a) Q;Lm (b) T
(a) Land (b) Labour (©) ush
(c) Capital &
A. (a) only A. AT (a)
B. (a) and (c) B. (a) 3 (c)
C. (b)and (c) C. (b) ¥ (o)
D. (b) only D. = (b)
126. Match the dairy equipment’s with 126. S U 1 fer Geifera gfshamet @
corresponding processes. -
Column — | Column — 11 i — [ HTq _ 11
(I) Clarifier (a) Separation FAffpT AR
(1) Centrifuge (b) Bactofugation ! : ® N
(1) Separator  (c) Clarification (I) ¥R (b) o
(IV) Bactofuge (d) Centrifugation (I11) Ho ORESKEEHE
A. I-d, l1-c, ll-a, IV-b (IV) SHRIFS  (d) e
B. I-b, 1l-d, lll-c, IV-a A. I-d, Il-c, Ill-a, IV-b
C. I-c, 11-d, lll-a, IV-b B. I-b, 1l-d, lll-c, IV-a
D. I-c, II-b, I11-d, IV-a C. I, II-d, Ill-a, IV-b
D. I-c, II-b, I1I-d, IV-a
127. Which of the following process is 127. s sht g = e forfer 7 fFreferfea
employed in Gerber’s method of milk ﬁﬁ i;h{‘l Hi;he“ EARERIL i.;he“ ST %‘7
fat determination? .
A. Centrifugation A Hs R
B. Sedimentation B. HHIH
C. Filtration C. foeesm
D. Dehydration D. feemeym
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128.

129.

Rennet belongs to-
A. Proteinases
B. Lipases

C. Catalase

D. Phosphatases

Select the correct sequence of
operations among the following steps
which are involved in Direct Cream
method of Ghee production.

() Boiling of cream

(1) Decantation of ghee

(1) Separation of cream

(1V) Warming of milk

A. (1), (1), (1) & (1IV)
B. (1), (1) (1) & (IV)
C. (1), (1) (IV) & (1)
D. (IV), (1) (1) & (1)

129. =t Seare sl Teaer shiw fafer o wmfirer
fraferfiaa <o 9 9 d=raq o 9 w9 o5
T -

() A T ST
(1) ¥t T Srehes™
(III) A 3T Jereh SHTAT
(IV) & 2l T Tl

A. (D), (1), (1) & (1V)
B. (1), (1) (1) & (1V)
C. (1), (1) (IV) & (1)
D. (IV), (1) (1) & (1)
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130.

131.

Match the milk products with the
process of making.

Column — |
(h Milk
(1) Curd
(1) Whey
(1V) Butter
Column — I

(@) Churning the cream

(b) Fermenting milk with
bacteria

(c) Milking a cattle

(d) Liquid left after making

Cheese
A. I-d, ll-c, lll-a, IV-b
B. I-b, lI-d, lll-c, IV-a
C. l-a, ll-c, llI-b, IV-d
D. I-c, lI-b, Ill-d, IV-a

Which of the following force is
responsible for separation of fat from
milk in a cream separator machine?

A. Cohesive force
B. Gravitational force
C. Viscous force
D. Centrifugal force

130. gver IeUTET 2l S 2hl TishAT & el ohi-

ShictH — |
1) frew
S
(11I) =
(V) o
ShictH — 11
(a) ShIF ST HeAT
(b) U I ST § fohfUere AT
(c) Toneft werwft =t g8 ger
(d) =TS o S1E ST §HT /A
e

I-d, Il-c, Ill-a, IV-b
I-b, I1-d, lll-c, IV-a
I-a, 1l-c, Ill-b, IV-d
. 1-c, 11-b, 111-d, IV-a

oo wp

. ShIH TR W H 8T & ST shi 3T T

& fore fafaftaa 9 9 =19 a1 9 Ser
27

A. GESTh §A
B. T&cATHNU A
C. WHA

D. 3T o
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132. Which of the following food is not
included in dairy food group?

A. Milk, Cream & Dahi

B. Cheese, Rabri & Khurchan
C. Tofu, Soyamilk & Petha

D. Khoa, Sandesh & Kalakand

133. Which of the following steps is not
followed during the manufacture of
condensed milk?

A. Clarification of milk

B. Blanching of milk

C. Standardization of milk
D. Condensing of milk

132.

133.

frefaRaa & @ & 1 isH S8 @
e H R el @

A. Ties, g 3 3&

B. =<, Wt o g

C. I, HrATTHT F UaT

D. I, §a¥T J helleha

wErd g o fior o SR feforfad 3 &
forer =roT <hT aTeT Tt foRarT STTaT 82
A. IR DA

U I SeA T AT

81 T HThIHTT

8 ! W ShEAT

OO0 W
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134. Read the following statements:

(a)

(b)
(©
(d)

Cream is the fatty portion of
milk which rises to the top of
milk on quiescent storage.

It is produced by separation of
homogenized whole milk.

The indigenous product
similar to cream is malai.

The cyclone separator is used
for production of cream
commercially.

Which of the above statements are
incorrect?

A
B.
C.
D.

135.

(), (b), (¢) & (d)
(b), (c) & (d)

(b) & (d)

(b) & (c)

Combination of Glucose (CzH;,04)
and Galactose (CzH;,04) molecules

results in-

A.
B.
C.
D.

136.

Maltose
Sucrose
Fructose
Lactose

A room temperature of about ----- °C

has to be maintained during the first
week of age in broilers.

A

B
C.
D

15

. 25

35

. 42

134. f=ferfiad smem i 1e-

(a)

(b)

(c)
(d)

ShIH 8T T SETgh WITT & i1 317
WETUT 9T g8 <Rl SR T 7T 3T
ST 2

e BHISHIESS IO 3 hl dTie
e fAfid fram ST 2)

ST o TH Tt 3T AATS 2
GISaeAT YU T SYANT
TG & § $H1 & Scd1e o
fore fomar tram 21

YR | © i< 9T Y Teld 22

A
B.
C.
D.

135.

(@), (b), (c) 7 (d)
(b), (¢) = (d)

(b) = (d)

(b) = (c)

@it (CgH,,05) AR IiaS

(CgH1,04) SAUTAT o6 HASH § ST 8-
A. TS

B.

C
D.
136.

STRICR Bq SoH HHTE H L T qTIHH

R ki) p— °C T@HT 39 &Il 2

o w>

15
25
35
42
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137.

138.

Viral disease of chicken is-

(@) Coccidiosis

(b) Ranikhet disease

(c) Fowl cholera

(d) Bacillary White Diarrhoea

A. (a) and (b) only
B. (b) only

C. (a) and (d) only
D. (b) and (c) only

Which chicken breed is the biggest in
size among native breeds?

A. Danki
B. Busra
C. Aseel
D. Chittagong

137.

138.

qiital o SRRE S T 8-
(a) hiarSaEE

(b) TG AT

(c) It ShieiT

(d) SRt awe fsT

A. (a) 3 (b) AT

B. (b)a=

C. (a) 3 (d) 9

D. (b) 3 (c) 7

Tt <t i it SreTfer et e § SR
qod ST BT 87

A, Shl

B. &U

C. di

D. foamit

SPACE FOR ROUGH WORK / &% &Td & fo1 e

20462-UA-JUNUA-ENT-M2

32 SetA



139.

140.

141.

Match the following-

Column - | (Stage)
(@) Broiler Pre-starter
(b) Broiler Starter

(c) Broiler Finisher
(d) Layer
Column - Il (Crude Protein %)

(nH 18

(mny 22

(mnn 20

(v) 23

A. a-ll, b-1V, c-lllI, d-I
B. a-lll, b-11, c-1V, d-1
C. a-lV, b-1l, c-Ill, d-I
D. a-1V, b-lll, c-I, d-lI

As per BIS specification, minimum
calcium percent in layer diet should
be-

A
B. 0.5%
C. 2%
D. 3%

1%

As per 20" livestock census, the total
backyard poultry in the country has
increased by ------ over previous
census.

A. 45.8%
B. 4.5%
C. 16.8%
D. 12.3%

139.

140.

141.

fferfaa gafor shifse-
it - ] (379ET)

(a) SR fRerdX
(b) IR T
(c) SR fhfaer
(d) T
AT - 11 (€ TR %)
I 18
I 22
(I11) 20
V) 23
A. a-ll, b-1V, c-1ll, d-I
B. a-lll, b-l, c-1V, d-I
C. a1V, b-Il, c-111, d-I
D. a-1V, b-111, c-I, d-11
TR HTeh S o6 fofeor o SATEW, TR

SRR H AT Shicwrer Y AT B
=t

1%

0.5%

2%

3%

O w>»

20 Sff URTE EUMT o STTER, TR o1 H
9l ST shl T H TS Hahe H
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142. Vertically transmitted disease of
chicken is-

A. Bacillary white diarrhoea
B. Ranikhet disease

C. Fowl cholera

D. Fowl pox

143. Cyclotogaster heterographa is
commonly known as -----

A. FIluff louse

B. Wing louse
C. Chicken head louse
D. Chicken body louse

144. Match the following-

Column — | Column - 11
(Institute) (Center)
(a) ICAR-CARI (I) Hyderabad
(b) ICAR -DPR (II) New Delhi
(c) NECC (111) Pune
(d) ICAR—-1ARI (1V) lzatnagar
A. a-lll, b-1V, c-1, d-ll

B. a-1V, b-1, c-111, d-ll
C. a-1V, b-lll, c-l, d-I
D. a-lll, b-11, c-I, d-1V

142.

143.

144.

T ¥ FHearew Herid U -
A. ST athe U
B. TRad U

C. ®Id I
D. wff =

TIFATCIIEET SUUTHT ohl HTHT &7 §

ST ST 8-

A, TTH S
B. 9GS
C. Tt foe s

6
4.

it - 11
(FFET) (%)

(a) MFHIAT. -FIAH () TEEE

(b) FHAT-FFH (1) 75 foeedt

(c) 3HH. (1) o

(d) IHAT. - ATLH.IH. (IV)3SSIaTR

A. a-lll, b-1V, c-1, d-1l
B. a-1V, b-1, c-11, d-lI
C. a-lV, b-Ill, c-1l, d-I
D. a-lll, b-Il, c-I, d-IV
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145. One Eimeria Oocyst contain----

A. 4 sporocysts each with 2
sporozoites

B. 2 sporocysts each with 4
sporozoites

C. Oocyst with 4 naked sporozoites
D. Any of the above

146. Direction : For the Assertion (A) and

Reason (R) below, choose correct
alternative.

Assertion (A) : Waterer space
requirement is about 50% of feeder
space for chicken.

Reason (R) : Chicken consumes about
two times water than feed intake.

A. Both Assertion (A) and Reason
(R) are true and Reason (R) is
correct explanation of Assertion
(A).

B. Both Assertion (A) and Reason
(R) are true but Reason (R) is

NOT correct explanation of
Assertion (A).

C. Assertion (A) is true but Reason
(R) is false.

D. Assertion (A) is false but Reason
(R) is true.

146.

foder ; eAfirReT (A) T &R (R) =0

e 7T, Wt fereed -

AR (A) : GRTAT T AT o o T

STTE <hY STTAIIhAT, T o S oh SIS ohl

T H AT 50% BT 8

HROT (R) : GATAT THTHAT &1 THT 91, S T

QT & et €

A. ST AR (A) I HRT (R) TR
AT HROT (R) ST AR (A) T
TET SATEAT Y TS B

B. ST 3R (A) 3T HOT (R) TET 2
AT HWOT (R) G SAMTHAT (A) ol
T e e Y T R

C. MR (A) W& 8 W FRT (R)
TeAd 2

D. A (A) ToTd 8 T HR (R)
a2 2l
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147. Which fowl is considered to be the 147. fop aft =t ft oTeTq afar sht et s
progenitor of all domestic breeds of TS T ST 22

fowl? | .
A. Green Jungle Fowl A. T ST 9
B. Tt Shreft yaft

B. Grey Jungle Fowl
C. Ceylon Jungle Fowl C. dian St veft
D. Red Jungle Fowl D. et SivTe] geft
148. Match the following- 148. St sTSu-
Column — | Column - 11 AT -1 AT - 11
Deficiency Disease (Vitamin) S
ga) Curledytoe ! (h B2 < ()
paralysis (a) S 2T WA () B2
(b) Polyneuritis an A (b) HTet-siew I A
(c) Nutritional roup (111) B1 (©) T T3T (1) Bl
(d) Nutritional _ (IV) E (d) T TRSATARET  (IV) E
encephalomalacia
A. a-lll, b-11, c-1V, d-1

A. a-lll, b-11, c-1V, d-1
B. a-l, b-lll, c-1V, d-1l
C. a-ll, b-l, c-I, d-1V
D. a-l, b-1ll, c-ll, d-1V

149. Moisture content in the poultry litter 149. et forram weafa § qff o forra # 441

B. a-l, b-1ll, c-1V, d-ll
C. a-lll, b-ll, c-l, d-1V
D. a-l, b-1ll, c-ll, d-1V

should be below ------ by weight in G e IS o S BT =TrRY)
deep litter system.

A 15% A. 15%

B. 30% B. 30%

C. 40% C. 40%

D. 50% D. 50%
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150. Direction : For the Assertion (A) and
Reason (R) below, choose correct
alternative.

Assertion (A) : Orientation of poultry

house should be east to west direction.

Reason (R) : It will prevent falling of
direct sunlight into poultry house.

A. Both Assertion (A) and Reason
(R) are true and Reason (R) is
correct explanation of Assertion
(A).

B. Both Assertion (A) and Reason
(R) are true but Reason (R) is

NOT correct explanation of
Assertion (A).

C. Assertion (A) is true but Reason
(R) is false.

D. Assertion (A) is false but Reason
(R) is true.

150. st : 1freReT (A) 3T HROT (R) =

& TR &, TR forhed <H-

AR (A) : FFGE O HT (=

& g afEm foem § g =nfen)

R (R) : $8H FFHS 7L ToaeT 9

YhTST ST TS SH EITT|

A. 2T AR (A) I HRT (R) TETR
AT SHIOT (R) G SAMTHAT (A) 3l
T ST 1 TS B

B. 2T MR (A) 3T HRT (R) T &
AT HROT (R) ST AR (A) T
T e e S 2

C. AN (A) HE 8 T FR (R)
T 2

D. e (A) TTEd & T 1T (R)
a2 2l
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32 | SETA

IR 3ifRa ot T W 3de arfereham ik : 150
Time for making answers : 3 Hours Maximum Marks : 150
e :

1. 38T qRae 3 diT 9w |

2. T T 01 31 T | THT T T HEAT AT € |

3. Tl o IR, 1 TS OMR IR (ATEReie) W ifera i |

4. SRUTICHE: HodTeh g1 fehaT ST |

5. Torwlt oft TXE o SheTohete I AT ¢ Uaf WIAT3el Wi o ST afeid ¢ |
6. OMR 3TMNE (ITTETIAET) T TANT Hid THT VY IS AATILTHT T

w98 e I 91 39 |ig At faerae anfe ug S e
TFAIEYT I T 8 T |

HUTerg 97T / fawat <ht foreqa et |
amr | o T AT EEAT | 3R
AG-I ?ﬁ%%@duquﬁ o uat TifuTe e 50 50
(WitTereR, T wITE, Ut U S 9T
AG-II | ®E IUTEH U I I 50 50
AG-III | U9TITeT U Hdfehe UTet o el 50 50
Note :
1. This question booklet contains three Section.
2. Each question contains 01 marks. All question are compulsory.
3. Indicate your answers on the OMR Answer-Sheet provided.
4. No negative marking will be done.
5. Use of any type of calculator or log table and mobile phone

o

is prohibited.
While using OMR Answer-Sheet care should be taken so that

the Answer-Sheet does not get torn or spoiled due to folds and wrinkles.

Details of Parts/Subjects :

Part | Particular No. of Marks
Questions
AG-l | Elements of Science Mathematics useful 50 50

for Agriculture
(Physics, Chemistry, Mathematics and

Biology)
AG-Il | Crop Production and Horticulture 50 50
AG-I1I1 | Elements of Animal Husbandry and Poultry 50 50
farming
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